
1) 84 - (-25)

Answer: ____________

2) (-80) ÷ (-10)

Answer: ____________

3) A number was shared in the ratio 
15:24. The smaller share was 15. 
What was the larger amount?

Answer: ____________

4) Solve 1j2 - 9j - 1 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

5) 10/2 - 4/1

Answer: ____________

6) Find area of square 
having each side (s)
equals 25 ft

Answer: ____________

7) Find area of square 
having each side (s)
equals 99 cm

Answer: ____________

8) Round 15.5971 to the nearest whole 
number.

Answer: ____________

9) 40 ÷ 10

Answer: ____________

10) 29 x (-19)

Answer: ____________

11) 3/35 of 140

Answer: ____________

12) 04:50 am To 07:40 am

Answer: ____________

13) (-72) - 1

Answer: ____________

14)
Find the next three numbers in 
the sequence
48,45,180,177,708,705,2820__,__,__

Answer: ____________

15) An amount was decreased by 4% to 
$293.00. Find the original amount.

Answer: ____________
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16) 32/9 x 41/2

Answer: ____________

17) Find the mean of the following set of data:

0.2, 0.7

Answer: ____________

18)
19  Find Volume of 
               17       Cylinder 

Answer: ____________

19) Write 2 x 10-3 as a normal number.

Answer: ____________

20) 83.2 + 21.3

Answer: ____________

Total: ___ / 20
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Answers:

1) 109 2) 8 3) 24 4) j = 9.1 or -0.1 5) 1/1 6) 625ft 7) 9801cm

8) 16 9) 4 10) 11) 12 12) 02 Hours 50 Mins 13) -73 14) 2817,11268,11265,

15) $281.28 16) 141/2 17) 0.45 18) 4312.6213152154 19) 0.002 20) 104.5
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